
Pattern Designs

	PD 1
	
[image: 8%20across%203%20down%20PDs/Square&Rectangle%20PD%20Outcomes%202.pdf]
	PD 2
	
[image: 8%20across%203%20down%20PDs/Square&Rectangle%20PD%20Outcomes%202.pdf]

	PD 3
	
[image: 8%20across%203%20down%20PDs/Square&Rectangle%20PD%20Outcomes%202.pdf]
	PD 4
	
[image: 8%20across%203%20down%20PDs/Square&Rectangle%20PD%20Outcomes%202.pdf]

	PD 5
	
[image: 8%20across%203%20down%20PDs/Square&Rectangle%20PD%20Outcomes%202.pdf]
	PD 6
	
[image: 8%20across%203%20down%20PDs/Square&Rectangle%20PD%20Outcomes%202.pdf]

	PD 7
	
[image: 8%20across%203%20down%20PDs/Square&Rectangle%20PD%20Outcomes%202.pdf]
	PD 8
	
[image: 8%20across%203%20down%20PDs/Square&Rectangle%20PD%20Outcomes%202.pdf]

	PD 9
	
[image: 8%20across%203%20down%20PDs/Square&Rectangle%20PD%20Outcomes%202.pdf]
	PD 10
	
[image: 8%20across%203%20down%20PDs/Square&Rectangle%20PD%20Outcomes%202.pdf]

	PD 11
	
[image: 8%20across%203%20down%20PDs/Circle&Arched-Square%20PD%20Outcomes%202.pdf]
	PD 12
	
[image: 8%20across%203%20down%20PDs/Circle&Arched-Square%20PD%20Outcomes%202.pdf]

	PD 13
	
[image: 8%20across%203%20down%20PDs/Circle&Arched-Square%20PD%20Outcomes%202.pdf]
	PD 14
	
[image: 8%20across%203%20down%20PDs/Circle&Arched-Square%20PD%20Outcomes%202.pdf]

	


PD 15
	
[image: 8%20across%203%20down%20PDs/Circle&Arched-Square%20PD%20Outcomes%202.pdf]
	


[bookmark: _GoBack]PD 16
	
[image: 8%20across%203%20down%20PDs/Circle&Arched-Square%20PD%20Outcomes%202.pdf]

	PD 17
	
[image: 8%20across%203%20down%20PDs/Circle&Arched-Square%20PD%20Outcomes%202.pdf]
	PD 18
	
[image: 8%20across%203%20down%20PDs/Circle&Arched-Square%20PD%20Outcomes%202.pdf]

	PD 19
	
[image: 8%20across%203%20down%20PDs/Diamond&Arched-Diamond%20PD%20Outcomes.pdf]
	PD 20
	
[image: 8%20across%203%20down%20PDs/Diamond&Arched-Diamond%20PD%20Outcomes.pdf]

	PD 21
	
[image: 8%20across%203%20down%20PDs/Diamond&Arched-Diamond%20PD%20Outcomes.pdf]
	PD 22
	
[image: 8%20across%203%20down%20PDs/Diamond&Arched-Diamond%20PD%20Outcomes.pdf]

	PD 23
	
[image: 8%20across%203%20down%20PDs/Diamond&Arched-Diamond%20PD%20Outcomes.pdf]
	PD 24
	
[image: 8%20across%203%20down%20PDs/Octagon%20PD%20Outcomes.pdf]

	PD 25
	
[image: 8%20across%203%20down%20PDs/Octagon%20PD%20Outcomes.pdf]
	PD 26
	
[image: 8%20across%203%20down%20PDs/Octagon%20PD%20Outcomes.pdf]



image7.emf



* IDENTICAL PD 3  Framing outcome  



* IDENTICAL PD 3 Framing outcome 



Initial Shape



SR set #1.
     - (Gh. / Mh.)



SR set #2.
     - (RO.)



     - (Gv.) 



     - (Gh. / Mh.)
     - (Gv.) 



PD 1(A). PD 1(B). 



PD 2(A). 



         Circle



Pattern Design Outcomes



SR set #3.
     - (Gh. / Mh.)
     - (Gv.) 
     - (GdO.50) 



PD 2(B). 



PD 3(A). PD 3(B). 



     - SRA (RO.) results in same   
        IS outcome; and set #1 PD 
         outcome. Therefore, SR (RO.)      
         is not applicable to IS Circle. 



Initial Shape



SR set #1.
     - (Gh. / Mh.)



SR set #2.
     - (RO.45)



     - (Gv.) 



     - (Gh. / Mh.)
     - (Gv.) 



PD 1(A). PD 1(B). 



PD 2(A). 



   Arched-Square 



SR set #3.
     - (Gh. / Mh.)
     - (Gv.) 
     - (GdO.50) 



PD 2(B). 



PD 3(A). PD 3(B). 



Pattern Design Outcomes










* IDENTICAL PD 3  Framing outcome  

* IDENTICAL PD 3 Framing outcome 

Initial Shape

SR set #1.

     - (Gh. / Mh.)

SR set #2.

     - (RO.)

     - (Gv.) 

     - (Gh. / Mh.)

     - (Gv.) 

PD 1(A).  PD 1(B). 

PD 2(A). 

         Circle

Pattern Design Outcomes

SR set #3.

     - (Gh. / Mh.)

     - (Gv.) 

     - (GdO.50) 

PD 2(B). 

PD 3(A).  PD 3(B). 

     - SRA (RO.) results in same   

        IS outcome; and set #1 PD 

         outcome. Therefore, SR (RO.)      

         is not applicable to IS Circle. 

Initial Shape

SR set #1.

     - (Gh. / Mh.)

SR set #2.

     - (RO.45)

     - (Gv.) 

     - (Gh. / Mh.)

     - (Gv.) 

PD 1(A).  PD 1(B). 

PD 2(A). 

   Arched-Square 

SR set #3.

     - (Gh. / Mh.)

     - (Gv.) 

     - (GdO.50) 

PD 2(B). 

PD 3(A).  PD 3(B). 

Pattern Design Outcomes


image8.emf



* IDENTICAL PD 3  Framing outcome  



* IDENTICAL PD 3 Framing outcome 



Initial Shape



SR set #1.
     - (Gh. / Mh.)



SR set #2.
     - (RO.)



     - (Gv.) 



     - (Gh. / Mh.)
     - (Gv.) 



PD 1(A). PD 1(B). 



PD 2(A). 



         Circle



Pattern Design Outcomes



SR set #3.
     - (Gh. / Mh.)
     - (Gv.) 
     - (GdO.50) 



PD 2(B). 



PD 3(A). PD 3(B). 



     - SRA (RO.) results in same   
        IS outcome; and set #1 PD 
         outcome. Therefore, SR (RO.)      
         is not applicable to IS Circle. 



Initial Shape



SR set #1.
     - (Gh. / Mh.)



SR set #2.
     - (RO.45)



     - (Gv.) 



     - (Gh. / Mh.)
     - (Gv.) 



PD 1(A). PD 1(B). 



PD 2(A). 



   Arched-Square 



SR set #3.
     - (Gh. / Mh.)
     - (Gv.) 
     - (GdO.50) 



PD 2(B). 



PD 3(A). PD 3(B). 



Pattern Design Outcomes










* IDENTICAL PD 3  Framing outcome  

* IDENTICAL PD 3 Framing outcome 

Initial Shape

SR set #1.

     - (Gh. / Mh.)

SR set #2.

     - (RO.)

     - (Gv.) 

     - (Gh. / Mh.)

     - (Gv.) 

PD 1(A).  PD 1(B). 

PD 2(A). 

         Circle

Pattern Design Outcomes

SR set #3.

     - (Gh. / Mh.)

     - (Gv.) 

     - (GdO.50) 

PD 2(B). 

PD 3(A).  PD 3(B). 

     - SRA (RO.) results in same   

        IS outcome; and set #1 PD 

         outcome. Therefore, SR (RO.)      

         is not applicable to IS Circle. 

Initial Shape

SR set #1.

     - (Gh. / Mh.)

SR set #2.

     - (RO.45)

     - (Gv.) 

     - (Gh. / Mh.)

     - (Gv.) 

PD 1(A).  PD 1(B). 

PD 2(A). 

   Arched-Square 

SR set #3.

     - (Gh. / Mh.)

     - (Gv.) 

     - (GdO.50) 

PD 2(B). 

PD 3(A).  PD 3(B). 

Pattern Design Outcomes


image9.emf



* IDENTICAL PD 3  Framing outcome  



* IDENTICAL PD 3 Framing outcome 



Initial Shape



SR set #1.
     - (Gh. / Mh.)



SR set #2.
     - (RO.)



     - (Gv.) 



     - (Gh. / Mh.)
     - (Gv.) 



PD 1(A). PD 1(B). 



PD 2(A). 



         Circle



Pattern Design Outcomes



SR set #3.
     - (Gh. / Mh.)
     - (Gv.) 
     - (GdO.50) 



PD 2(B). 



PD 3(A). PD 3(B). 



     - SRA (RO.) results in same   
        IS outcome; and set #1 PD 
         outcome. Therefore, SR (RO.)      
         is not applicable to IS Circle. 



Initial Shape



SR set #1.
     - (Gh. / Mh.)



SR set #2.
     - (RO.45)



     - (Gv.) 



     - (Gh. / Mh.)
     - (Gv.) 



PD 1(A). PD 1(B). 



PD 2(A). 



   Arched-Square 



SR set #3.
     - (Gh. / Mh.)
     - (Gv.) 
     - (GdO.50) 



PD 2(B). 



PD 3(A). PD 3(B). 



Pattern Design Outcomes










* IDENTICAL PD 3  Framing outcome  

* IDENTICAL PD 3 Framing outcome 

Initial Shape

SR set #1.

     - (Gh. / Mh.)

SR set #2.

     - (RO.)

     - (Gv.) 

     - (Gh. / Mh.)

     - (Gv.) 

PD 1(A).  PD 1(B). 

PD 2(A). 

         Circle

Pattern Design Outcomes

SR set #3.

     - (Gh. / Mh.)

     - (Gv.) 

     - (GdO.50) 

PD 2(B). 

PD 3(A).  PD 3(B). 

     - SRA (RO.) results in same   

        IS outcome; and set #1 PD 

         outcome. Therefore, SR (RO.)      

         is not applicable to IS Circle. 

Initial Shape

SR set #1.

     - (Gh. / Mh.)

SR set #2.

     - (RO.45)

     - (Gv.) 

     - (Gh. / Mh.)

     - (Gv.) 

PD 1(A).  PD 1(B). 

PD 2(A). 

   Arched-Square 

SR set #3.

     - (Gh. / Mh.)

     - (Gv.) 

     - (GdO.50) 

PD 2(B). 

PD 3(A).  PD 3(B). 

Pattern Design Outcomes


image10.emf



* IDENTICAL PD 3  Framing outcome  



* IDENTICAL PD 3 Framing outcome 



Initial Shape



SR set #1.
     - (Gh. / Mh.)



SR set #2.
     - (RO.)



     - (Gv.) 



     - (Gh. / Mh.)
     - (Gv.) 



PD 1(A). PD 1(B). 



PD 2(A). 



         Circle



Pattern Design Outcomes



SR set #3.
     - (Gh. / Mh.)
     - (Gv.) 
     - (GdO.50) 



PD 2(B). 



PD 3(A). PD 3(B). 



     - SRA (RO.) results in same   
        IS outcome; and set #1 PD 
         outcome. Therefore, SR (RO.)      
         is not applicable to IS Circle. 



Initial Shape



SR set #1.
     - (Gh. / Mh.)



SR set #2.
     - (RO.45)



     - (Gv.) 



     - (Gh. / Mh.)
     - (Gv.) 



PD 1(A). PD 1(B). 



PD 2(A). 



   Arched-Square 



SR set #3.
     - (Gh. / Mh.)
     - (Gv.) 
     - (GdO.50) 



PD 2(B). 



PD 3(A). PD 3(B). 



Pattern Design Outcomes










* IDENTICAL PD 3  Framing outcome  

* IDENTICAL PD 3 Framing outcome 

Initial Shape

SR set #1.

     - (Gh. / Mh.)

SR set #2.

     - (RO.)

     - (Gv.) 

     - (Gh. / Mh.)

     - (Gv.) 

PD 1(A).  PD 1(B). 

PD 2(A). 

         Circle

Pattern Design Outcomes

SR set #3.

     - (Gh. / Mh.)

     - (Gv.) 

     - (GdO.50) 

PD 2(B). 

PD 3(A).  PD 3(B). 

     - SRA (RO.) results in same   

        IS outcome; and set #1 PD 

         outcome. Therefore, SR (RO.)      

         is not applicable to IS Circle. 

Initial Shape

SR set #1.

     - (Gh. / Mh.)

SR set #2.

     - (RO.45)

     - (Gv.) 

     - (Gh. / Mh.)

     - (Gv.) 

PD 1(A).  PD 1(B). 

PD 2(A). 

   Arched-Square 

SR set #3.

     - (Gh. / Mh.)

     - (Gv.) 

     - (GdO.50) 

PD 2(B). 

PD 3(A).  PD 3(B). 

Pattern Design Outcomes


image11.emf



* IDENTICAL PD 3  Framing outcome  



* IDENTICAL PD 3 Framing outcome 



Initial Shape



SR set #1.
     - (Gh. / Mh.)



SR set #2.
     - (RO.)



     - (Gv.) 



     - (Gh. / Mh.)
     - (Gv.) 



PD 1(A). PD 1(B). 



PD 2(A). 



         Circle



Pattern Design Outcomes



SR set #3.
     - (Gh. / Mh.)
     - (Gv.) 
     - (GdO.50) 



PD 2(B). 



PD 3(A). PD 3(B). 



     - SRA (RO.) results in same   
        IS outcome; and set #1 PD 
         outcome. Therefore, SR (RO.)      
         is not applicable to IS Circle. 



Initial Shape



SR set #1.
     - (Gh. / Mh.)



SR set #2.
     - (RO.45)



     - (Gv.) 



     - (Gh. / Mh.)
     - (Gv.) 



PD 1(A). PD 1(B). 



PD 2(A). 



   Arched-Square 



SR set #3.
     - (Gh. / Mh.)
     - (Gv.) 
     - (GdO.50) 



PD 2(B). 



PD 3(A). PD 3(B). 



Pattern Design Outcomes










* IDENTICAL PD 3  Framing outcome  

* IDENTICAL PD 3 Framing outcome 

Initial Shape

SR set #1.

     - (Gh. / Mh.)

SR set #2.

     - (RO.)

     - (Gv.) 

     - (Gh. / Mh.)

     - (Gv.) 

PD 1(A).  PD 1(B). 

PD 2(A). 

         Circle

Pattern Design Outcomes

SR set #3.

     - (Gh. / Mh.)

     - (Gv.) 

     - (GdO.50) 

PD 2(B). 

PD 3(A).  PD 3(B). 

     - SRA (RO.) results in same   

        IS outcome; and set #1 PD 

         outcome. Therefore, SR (RO.)      

         is not applicable to IS Circle. 

Initial Shape

SR set #1.

     - (Gh. / Mh.)

SR set #2.

     - (RO.45)

     - (Gv.) 

     - (Gh. / Mh.)

     - (Gv.) 

PD 1(A).  PD 1(B). 

PD 2(A). 

   Arched-Square 

SR set #3.

     - (Gh. / Mh.)

     - (Gv.) 

     - (GdO.50) 

PD 2(B). 

PD 3(A).  PD 3(B). 

Pattern Design Outcomes


image12.emf



* IDENTICAL PD 3  Framing outcome  



* IDENTICAL PD 3 Framing outcome 



Initial Shape



SR set #1.
     - (Gh. / Mh.)



SR set #2.
     - (RO.)



     - (Gv.) 



     - (Gh. / Mh.)
     - (Gv.) 



PD 1(A). PD 1(B). 



PD 2(A). 



         Circle



Pattern Design Outcomes



SR set #3.
     - (Gh. / Mh.)
     - (Gv.) 
     - (GdO.50) 



PD 2(B). 



PD 3(A). PD 3(B). 



     - SRA (RO.) results in same   
        IS outcome; and set #1 PD 
         outcome. Therefore, SR (RO.)      
         is not applicable to IS Circle. 



Initial Shape



SR set #1.
     - (Gh. / Mh.)



SR set #2.
     - (RO.45)



     - (Gv.) 



     - (Gh. / Mh.)
     - (Gv.) 



PD 1(A). PD 1(B). 



PD 2(A). 



   Arched-Square 



SR set #3.
     - (Gh. / Mh.)
     - (Gv.) 
     - (GdO.50) 



PD 2(B). 



PD 3(A). PD 3(B). 



Pattern Design Outcomes










* IDENTICAL PD 3  Framing outcome  

* IDENTICAL PD 3 Framing outcome 

Initial Shape

SR set #1.

     - (Gh. / Mh.)

SR set #2.

     - (RO.)

     - (Gv.) 

     - (Gh. / Mh.)

     - (Gv.) 

PD 1(A).  PD 1(B). 

PD 2(A). 

         Circle

Pattern Design Outcomes

SR set #3.

     - (Gh. / Mh.)

     - (Gv.) 

     - (GdO.50) 

PD 2(B). 

PD 3(A).  PD 3(B). 

     - SRA (RO.) results in same   

        IS outcome; and set #1 PD 

         outcome. Therefore, SR (RO.)      

         is not applicable to IS Circle. 

Initial Shape

SR set #1.

     - (Gh. / Mh.)

SR set #2.

     - (RO.45)

     - (Gv.) 

     - (Gh. / Mh.)

     - (Gv.) 

PD 1(A).  PD 1(B). 

PD 2(A). 

   Arched-Square 

SR set #3.

     - (Gh. / Mh.)

     - (Gv.) 

     - (GdO.50) 

PD 2(B). 

PD 3(A).  PD 3(B). 

Pattern Design Outcomes


image13.emf



* IDENTICAL PD 3  Framing outcome  



* IDENTICAL PD 3 Framing outcome 



Initial Shape



SR set #1.
     - (Gh. / Mh.)



SR set #2.
     - (RO.)



     - (Gv.) 



     - (Gh. / Mh.)
     - (Gv.) 



PD 1(A). PD 1(B). 



PD 2(A). 



         Circle



Pattern Design Outcomes



SR set #3.
     - (Gh. / Mh.)
     - (Gv.) 
     - (GdO.50) 



PD 2(B). 



PD 3(A). PD 3(B). 



     - SRA (RO.) results in same   
        IS outcome; and set #1 PD 
         outcome. Therefore, SR (RO.)      
         is not applicable to IS Circle. 



Initial Shape



SR set #1.
     - (Gh. / Mh.)



SR set #2.
     - (RO.45)



     - (Gv.) 



     - (Gh. / Mh.)
     - (Gv.) 



PD 1(A). PD 1(B). 



PD 2(A). 



   Arched-Square 



SR set #3.
     - (Gh. / Mh.)
     - (Gv.) 
     - (GdO.50) 



PD 2(B). 



PD 3(A). PD 3(B). 



Pattern Design Outcomes










* IDENTICAL PD 3  Framing outcome  

* IDENTICAL PD 3 Framing outcome 

Initial Shape

SR set #1.

     - (Gh. / Mh.)

SR set #2.

     - (RO.)

     - (Gv.) 

     - (Gh. / Mh.)

     - (Gv.) 

PD 1(A).  PD 1(B). 

PD 2(A). 

         Circle

Pattern Design Outcomes

SR set #3.

     - (Gh. / Mh.)

     - (Gv.) 

     - (GdO.50) 

PD 2(B). 

PD 3(A).  PD 3(B). 

     - SRA (RO.) results in same   

        IS outcome; and set #1 PD 

         outcome. Therefore, SR (RO.)      

         is not applicable to IS Circle. 

Initial Shape

SR set #1.

     - (Gh. / Mh.)

SR set #2.

     - (RO.45)

     - (Gv.) 

     - (Gh. / Mh.)

     - (Gv.) 

PD 1(A).  PD 1(B). 

PD 2(A). 

   Arched-Square 

SR set #3.

     - (Gh. / Mh.)

     - (Gv.) 

     - (GdO.50) 

PD 2(B). 

PD 3(A).  PD 3(B). 

Pattern Design Outcomes


image14.emf



* IDENTICAL PD 3  Framing outcome  



* IDENTICAL PD 3 Framing outcome 



Initial Shape



SR set #1.
     - (Gh. / Mh.)



SR set #2.
     - (RO.)



     - (Gv.) 



     - (Gh. / Mh.)
     - (Gv.) 



PD 1(A). PD 1(B). 



PD 2(A). 



         Circle



Pattern Design Outcomes



SR set #3.
     - (Gh. / Mh.)
     - (Gv.) 
     - (GdO.50) 



PD 2(B). 



PD 3(A). PD 3(B). 



     - SRA (RO.) results in same   
        IS outcome; and set #1 PD 
         outcome. Therefore, SR (RO.)      
         is not applicable to IS Circle. 



Initial Shape



SR set #1.
     - (Gh. / Mh.)



SR set #2.
     - (RO.45)



     - (Gv.) 



     - (Gh. / Mh.)
     - (Gv.) 



PD 1(A). PD 1(B). 



PD 2(A). 



   Arched-Square 



SR set #3.
     - (Gh. / Mh.)
     - (Gv.) 
     - (GdO.50) 



PD 2(B). 



PD 3(A). PD 3(B). 



Pattern Design Outcomes










* IDENTICAL PD 3  Framing outcome  

* IDENTICAL PD 3 Framing outcome 

Initial Shape

SR set #1.

     - (Gh. / Mh.)

SR set #2.

     - (RO.)

     - (Gv.) 

     - (Gh. / Mh.)

     - (Gv.) 

PD 1(A).  PD 1(B). 

PD 2(A). 

         Circle

Pattern Design Outcomes

SR set #3.

     - (Gh. / Mh.)

     - (Gv.) 

     - (GdO.50) 

PD 2(B). 

PD 3(A).  PD 3(B). 

     - SRA (RO.) results in same   

        IS outcome; and set #1 PD 

         outcome. Therefore, SR (RO.)      

         is not applicable to IS Circle. 

Initial Shape

SR set #1.

     - (Gh. / Mh.)

SR set #2.

     - (RO.45)

     - (Gv.) 

     - (Gh. / Mh.)

     - (Gv.) 

PD 1(A).  PD 1(B). 

PD 2(A). 

   Arched-Square 

SR set #3.

     - (Gh. / Mh.)

     - (Gv.) 

     - (GdO.50) 

PD 2(B). 

PD 3(A).  PD 3(B). 

Pattern Design Outcomes


image15.emf



* IDENTICAL PD 1 Framing outcome 



* IDENTICAL PD 3 Framing outcome 



Initial Shape



SR set #1.
     - (Gh. / Mh.)



SR set #2.
     - (RO.45)



     - (Gv.) 



     - (Gh. / Mh.)
     - (Gv.) 



PD 1(A). PD 1(B). 



PD 2(A). 



      Diamond



Pattern Design Outcomes



SR set #3.
     - (Gh. / Mh.)
     - (Gv.) 
     - (GdO.50) 



PD 3(A). PD 3(B). 



PD 2(B). 



* IDENTICAL PD 3 Framing outcome 
      - also identical to PD 1 outcome / set#1. 



Initial Shape



SR set #1.
     - (Gh. / Mh.)



SR set #2.
     - (RO.45)



     - (Gv.) 



     - (Gh. / Mh.)
     - (Gv.) 



PD 1(A). PD 1(B). 



PD 2(A). 



 Arched-Diamond



Pattern Design Outcomes



SR set #3.
     - (Gh. / Mh.)
     - (Gv.) 
     - (GdO.50) 



PD 3(A). PD 3(B). 



PD 2(B). 










* IDENTICAL PD 1 Framing outcome 

* IDENTICAL PD 3 Framing outcome 

Initial Shape

SR set #1.

     - (Gh. / Mh.)

SR set #2.

     - (RO.45)

     - (Gv.) 

     - (Gh. / Mh.)

     - (Gv.) 

PD 1(A).  PD 1(B). 

PD 2(A). 

      Diamond

Pattern Design Outcomes

SR set #3.

     - (Gh. / Mh.)

     - (Gv.) 

     - (GdO.50) 

PD 3(A).  PD 3(B). 

PD 2(B). 

* IDENTICAL PD 3 Framing outcome 

      - also identical to PD 1 outcome / set#1. 

Initial Shape

SR set #1.

     - (Gh. / Mh.)

SR set #2.

     - (RO.45)

     - (Gv.) 

     - (Gh. / Mh.)

     - (Gv.) 

PD 1(A).  PD 1(B). 

PD 2(A). 

 Arched-Diamond

Pattern Design Outcomes

SR set #3.

     - (Gh. / Mh.)

     - (Gv.) 

     - (GdO.50) 

PD 3(A).  PD 3(B). 

PD 2(B). 


image16.emf



* IDENTICAL PD 1 Framing outcome 



* IDENTICAL PD 3 Framing outcome 



Initial Shape



SR set #1.
     - (Gh. / Mh.)



SR set #2.
     - (RO.45)



     - (Gv.) 



     - (Gh. / Mh.)
     - (Gv.) 



PD 1(A). PD 1(B). 



PD 2(A). 



      Diamond



Pattern Design Outcomes



SR set #3.
     - (Gh. / Mh.)
     - (Gv.) 
     - (GdO.50) 



PD 3(A). PD 3(B). 



PD 2(B). 



* IDENTICAL PD 3 Framing outcome 
      - also identical to PD 1 outcome / set#1. 



Initial Shape



SR set #1.
     - (Gh. / Mh.)



SR set #2.
     - (RO.45)



     - (Gv.) 



     - (Gh. / Mh.)
     - (Gv.) 



PD 1(A). PD 1(B). 



PD 2(A). 



 Arched-Diamond



Pattern Design Outcomes



SR set #3.
     - (Gh. / Mh.)
     - (Gv.) 
     - (GdO.50) 



PD 3(A). PD 3(B). 



PD 2(B). 










* IDENTICAL PD 1 Framing outcome 

* IDENTICAL PD 3 Framing outcome 

Initial Shape

SR set #1.

     - (Gh. / Mh.)

SR set #2.

     - (RO.45)

     - (Gv.) 

     - (Gh. / Mh.)

     - (Gv.) 

PD 1(A).  PD 1(B). 

PD 2(A). 

      Diamond

Pattern Design Outcomes

SR set #3.

     - (Gh. / Mh.)

     - (Gv.) 

     - (GdO.50) 

PD 3(A).  PD 3(B). 

PD 2(B). 

* IDENTICAL PD 3 Framing outcome 

      - also identical to PD 1 outcome / set#1. 

Initial Shape

SR set #1.

     - (Gh. / Mh.)

SR set #2.

     - (RO.45)

     - (Gv.) 

     - (Gh. / Mh.)

     - (Gv.) 

PD 1(A).  PD 1(B). 

PD 2(A). 

 Arched-Diamond

Pattern Design Outcomes

SR set #3.

     - (Gh. / Mh.)

     - (Gv.) 

     - (GdO.50) 

PD 3(A).  PD 3(B). 

PD 2(B). 


image17.emf



* IDENTICAL PD 1 Framing outcome 



* IDENTICAL PD 3 Framing outcome 



Initial Shape



SR set #1.
     - (Gh. / Mh.)



SR set #2.
     - (RO.45)



     - (Gv.) 



     - (Gh. / Mh.)
     - (Gv.) 



PD 1(A). PD 1(B). 



PD 2(A). 



      Diamond



Pattern Design Outcomes



SR set #3.
     - (Gh. / Mh.)
     - (Gv.) 
     - (GdO.50) 



PD 3(A). PD 3(B). 



PD 2(B). 



* IDENTICAL PD 3 Framing outcome 
      - also identical to PD 1 outcome / set#1. 



Initial Shape



SR set #1.
     - (Gh. / Mh.)



SR set #2.
     - (RO.45)



     - (Gv.) 



     - (Gh. / Mh.)
     - (Gv.) 



PD 1(A). PD 1(B). 



PD 2(A). 



 Arched-Diamond



Pattern Design Outcomes



SR set #3.
     - (Gh. / Mh.)
     - (Gv.) 
     - (GdO.50) 



PD 3(A). PD 3(B). 



PD 2(B). 










* IDENTICAL PD 1 Framing outcome 

* IDENTICAL PD 3 Framing outcome 

Initial Shape

SR set #1.

     - (Gh. / Mh.)

SR set #2.

     - (RO.45)

     - (Gv.) 

     - (Gh. / Mh.)

     - (Gv.) 

PD 1(A).  PD 1(B). 

PD 2(A). 

      Diamond

Pattern Design Outcomes

SR set #3.

     - (Gh. / Mh.)

     - (Gv.) 

     - (GdO.50) 

PD 3(A).  PD 3(B). 

PD 2(B). 

* IDENTICAL PD 3 Framing outcome 

      - also identical to PD 1 outcome / set#1. 

Initial Shape

SR set #1.

     - (Gh. / Mh.)

SR set #2.

     - (RO.45)

     - (Gv.) 

     - (Gh. / Mh.)

     - (Gv.) 

PD 1(A).  PD 1(B). 

PD 2(A). 

 Arched-Diamond

Pattern Design Outcomes

SR set #3.

     - (Gh. / Mh.)

     - (Gv.) 

     - (GdO.50) 

PD 3(A).  PD 3(B). 

PD 2(B). 


image18.emf



* IDENTICAL PD 1 Framing outcome 



* IDENTICAL PD 3 Framing outcome 



Initial Shape



SR set #1.
     - (Gh. / Mh.)



SR set #2.
     - (RO.45)



     - (Gv.) 



     - (Gh. / Mh.)
     - (Gv.) 



PD 1(A). PD 1(B). 



PD 2(A). 



      Diamond



Pattern Design Outcomes



SR set #3.
     - (Gh. / Mh.)
     - (Gv.) 
     - (GdO.50) 



PD 3(A). PD 3(B). 



PD 2(B). 



* IDENTICAL PD 3 Framing outcome 
      - also identical to PD 1 outcome / set#1. 



Initial Shape



SR set #1.
     - (Gh. / Mh.)



SR set #2.
     - (RO.45)



     - (Gv.) 



     - (Gh. / Mh.)
     - (Gv.) 



PD 1(A). PD 1(B). 



PD 2(A). 



 Arched-Diamond



Pattern Design Outcomes



SR set #3.
     - (Gh. / Mh.)
     - (Gv.) 
     - (GdO.50) 



PD 3(A). PD 3(B). 



PD 2(B). 










* IDENTICAL PD 1 Framing outcome 

* IDENTICAL PD 3 Framing outcome 

Initial Shape

SR set #1.

     - (Gh. / Mh.)

SR set #2.

     - (RO.45)

     - (Gv.) 

     - (Gh. / Mh.)

     - (Gv.) 

PD 1(A).  PD 1(B). 

PD 2(A). 

      Diamond

Pattern Design Outcomes

SR set #3.

     - (Gh. / Mh.)

     - (Gv.) 

     - (GdO.50) 

PD 3(A).  PD 3(B). 

PD 2(B). 

* IDENTICAL PD 3 Framing outcome 

      - also identical to PD 1 outcome / set#1. 

Initial Shape

SR set #1.

     - (Gh. / Mh.)

SR set #2.

     - (RO.45)

     - (Gv.) 

     - (Gh. / Mh.)

     - (Gv.) 

PD 1(A).  PD 1(B). 

PD 2(A). 

 Arched-Diamond

Pattern Design Outcomes

SR set #3.

     - (Gh. / Mh.)

     - (Gv.) 

     - (GdO.50) 

PD 3(A).  PD 3(B). 

PD 2(B). 


image19.emf



* IDENTICAL PD 1 Framing outcome 



* IDENTICAL PD 3 Framing outcome 



Initial Shape



SR set #1.
     - (Gh. / Mh.)



SR set #2.
     - (RO.45)



     - (Gv.) 



     - (Gh. / Mh.)
     - (Gv.) 



PD 1(A). PD 1(B). 



PD 2(A). 



      Diamond



Pattern Design Outcomes



SR set #3.
     - (Gh. / Mh.)
     - (Gv.) 
     - (GdO.50) 



PD 3(A). PD 3(B). 



PD 2(B). 



* IDENTICAL PD 3 Framing outcome 
      - also identical to PD 1 outcome / set#1. 



Initial Shape



SR set #1.
     - (Gh. / Mh.)



SR set #2.
     - (RO.45)



     - (Gv.) 



     - (Gh. / Mh.)
     - (Gv.) 



PD 1(A). PD 1(B). 



PD 2(A). 



 Arched-Diamond



Pattern Design Outcomes



SR set #3.
     - (Gh. / Mh.)
     - (Gv.) 
     - (GdO.50) 



PD 3(A). PD 3(B). 



PD 2(B). 










* IDENTICAL PD 1 Framing outcome 

* IDENTICAL PD 3 Framing outcome 

Initial Shape

SR set #1.

     - (Gh. / Mh.)

SR set #2.

     - (RO.45)

     - (Gv.) 

     - (Gh. / Mh.)

     - (Gv.) 

PD 1(A).  PD 1(B). 

PD 2(A). 

      Diamond

Pattern Design Outcomes

SR set #3.

     - (Gh. / Mh.)

     - (Gv.) 

     - (GdO.50) 

PD 3(A).  PD 3(B). 

PD 2(B). 

* IDENTICAL PD 3 Framing outcome 

      - also identical to PD 1 outcome / set#1. 

Initial Shape

SR set #1.

     - (Gh. / Mh.)

SR set #2.

     - (RO.45)

     - (Gv.) 

     - (Gh. / Mh.)

     - (Gv.) 

PD 1(A).  PD 1(B). 

PD 2(A). 

 Arched-Diamond

Pattern Design Outcomes

SR set #3.

     - (Gh. / Mh.)

     - (Gv.) 

     - (GdO.50) 

PD 3(A).  PD 3(B). 

PD 2(B). 


image20.emf



* IDENTICAL PD 3 Framing outcome 



Initial Shape



SR set #1.
     - (Gh. / Mh.)



SR set #2.
     - (RO.)



     - (Gv.) 



     - (Gh. / Mh.)
     - (Gv.) 



PD 1(A). PD 1(B). 



PD 2(A). 



      Octagon



Pattern Design Outcomes



SR set #3.
     - (Gh. / Mh.)
     - (Gv.) 
     - (GdO.50) 



PD 3(A). PD 3(B). 



PD 2(B). 



     - SRA (RO.) results in same   
        IS outcome; and set #1 PD 
         outcome. Therefore, SR (RO.)      
         is not applicable to IS Octagon. 










* IDENTICAL PD 3 Framing outcome 

Initial Shape

SR set #1.

     - (Gh. / Mh.)

SR set #2.

     - (RO.)

     - (Gv.) 

     - (Gh. / Mh.)

     - (Gv.) 

PD 1(A).  PD 1(B). 

PD 2(A). 

      Octagon

Pattern Design Outcomes

SR set #3.

     - (Gh. / Mh.)

     - (Gv.) 

     - (GdO.50) 

PD 3(A).  PD 3(B). 

PD 2(B). 

     - SRA (RO.) results in same   

        IS outcome; and set #1 PD 

         outcome. Therefore, SR (RO.)      

         is not applicable to IS Octagon. 


image21.emf



* IDENTICAL PD 3 Framing outcome 



Initial Shape



SR set #1.
     - (Gh. / Mh.)



SR set #2.
     - (RO.)



     - (Gv.) 



     - (Gh. / Mh.)
     - (Gv.) 



PD 1(A). PD 1(B). 



PD 2(A). 



      Octagon



Pattern Design Outcomes



SR set #3.
     - (Gh. / Mh.)
     - (Gv.) 
     - (GdO.50) 



PD 3(A). PD 3(B). 



PD 2(B). 



     - SRA (RO.) results in same   
        IS outcome; and set #1 PD 
         outcome. Therefore, SR (RO.)      
         is not applicable to IS Octagon. 










* IDENTICAL PD 3 Framing outcome 

Initial Shape

SR set #1.

     - (Gh. / Mh.)

SR set #2.

     - (RO.)

     - (Gv.) 

     - (Gh. / Mh.)

     - (Gv.) 

PD 1(A).  PD 1(B). 

PD 2(A). 

      Octagon

Pattern Design Outcomes

SR set #3.

     - (Gh. / Mh.)

     - (Gv.) 

     - (GdO.50) 

PD 3(A).  PD 3(B). 

PD 2(B). 

     - SRA (RO.) results in same   

        IS outcome; and set #1 PD 

         outcome. Therefore, SR (RO.)      

         is not applicable to IS Octagon. 


image22.emf



* IDENTICAL PD 3 Framing outcome 



Initial Shape



SR set #1.
     - (Gh. / Mh.)



SR set #2.
     - (RO.)



     - (Gv.) 



     - (Gh. / Mh.)
     - (Gv.) 



PD 1(A). PD 1(B). 



PD 2(A). 



      Octagon



Pattern Design Outcomes



SR set #3.
     - (Gh. / Mh.)
     - (Gv.) 
     - (GdO.50) 



PD 3(A). PD 3(B). 



PD 2(B). 



     - SRA (RO.) results in same   
        IS outcome; and set #1 PD 
         outcome. Therefore, SR (RO.)      
         is not applicable to IS Octagon. 










* IDENTICAL PD 3 Framing outcome 

Initial Shape

SR set #1.

     - (Gh. / Mh.)

SR set #2.

     - (RO.)

     - (Gv.) 

     - (Gh. / Mh.)

     - (Gv.) 

PD 1(A).  PD 1(B). 

PD 2(A). 

      Octagon

Pattern Design Outcomes

SR set #3.

     - (Gh. / Mh.)

     - (Gv.) 

     - (GdO.50) 

PD 3(A).  PD 3(B). 

PD 2(B). 

     - SRA (RO.) results in same   

        IS outcome; and set #1 PD 

         outcome. Therefore, SR (RO.)      

         is not applicable to IS Octagon. 


image1.emf



Initial Shape



SR set #1.
     - (Gh. / Mh.)



SR set #2.
     - (RO.45)



     - (Gv.) 



     - (Gh. / Mh.)
     - (Gv.) 



PD 1(A). PD 1(B). 



PD 2(A). 



       Square 



Pattern Design Outcomes



SR set #3.
     - (Gh. / Mh.)
     - (Gv.) 
     - (GdO.50) 



PD 2(B). 



PD 3(A). PD 3(B). 



* IDENTICAL PD 3 Framing outcome 



Initial Shape



SR set #1.
     - (Gh. / Mh.)



SR set #2.
     - (RO.90)



     - (Gv.) 



     - (Gh. / Mh.)
     - (Gv.) 



PD 1(A). PD 1(B). 



PD 2(A). 



      Rectangle



Pattern Design Outcomes



SR set #3.
     - (Gh. / Mh.)
     - (Gv.) 
     - (GdO.50) 



PD 2(B). 



PD 3(A). PD 3(B). 



* IDENTICAL PD 3 Framing outcome 










Initial Shape

SR set #1.

     - (Gh. / Mh.)

SR set #2.

     - (RO.45)

     - (Gv.) 

     - (Gh. / Mh.)

     - (Gv.) 

PD 1(A).  PD 1(B). 

PD 2(A). 

       Square 

Pattern Design Outcomes

SR set #3.

     - (Gh. / Mh.)

     - (Gv.) 

     - (GdO.50) 

PD 2(B). 

PD 3(A).  PD 3(B). 

* IDENTICAL PD 3 Framing outcome 

Initial Shape

SR set #1.

     - (Gh. / Mh.)

SR set #2.

     - (RO.90)

     - (Gv.) 

     - (Gh. / Mh.)

     - (Gv.) 

PD 1(A).  PD 1(B). 

PD 2(A). 

      Rectangle

Pattern Design Outcomes

SR set #3.

     - (Gh. / Mh.)

     - (Gv.) 

     - (GdO.50) 

PD 2(B). 

PD 3(A).  PD 3(B). 

* IDENTICAL PD 3 Framing outcome 


image2.emf



Initial Shape



SR set #1.
     - (Gh. / Mh.)



SR set #2.
     - (RO.45)



     - (Gv.) 



     - (Gh. / Mh.)
     - (Gv.) 



PD 1(A). PD 1(B). 



PD 2(A). 



       Square 



Pattern Design Outcomes



SR set #3.
     - (Gh. / Mh.)
     - (Gv.) 
     - (GdO.50) 



PD 2(B). 



PD 3(A). PD 3(B). 



* IDENTICAL PD 3 Framing outcome 



Initial Shape



SR set #1.
     - (Gh. / Mh.)



SR set #2.
     - (RO.90)



     - (Gv.) 



     - (Gh. / Mh.)
     - (Gv.) 



PD 1(A). PD 1(B). 



PD 2(A). 



      Rectangle



Pattern Design Outcomes



SR set #3.
     - (Gh. / Mh.)
     - (Gv.) 
     - (GdO.50) 



PD 2(B). 



PD 3(A). PD 3(B). 



* IDENTICAL PD 3 Framing outcome 










Initial Shape

SR set #1.

     - (Gh. / Mh.)

SR set #2.

     - (RO.45)

     - (Gv.) 

     - (Gh. / Mh.)

     - (Gv.) 

PD 1(A).  PD 1(B). 

PD 2(A). 

       Square 

Pattern Design Outcomes

SR set #3.

     - (Gh. / Mh.)

     - (Gv.) 

     - (GdO.50) 

PD 2(B). 

PD 3(A).  PD 3(B). 

* IDENTICAL PD 3 Framing outcome 

Initial Shape

SR set #1.

     - (Gh. / Mh.)

SR set #2.

     - (RO.90)

     - (Gv.) 

     - (Gh. / Mh.)

     - (Gv.) 

PD 1(A).  PD 1(B). 

PD 2(A). 

      Rectangle

Pattern Design Outcomes

SR set #3.

     - (Gh. / Mh.)

     - (Gv.) 

     - (GdO.50) 

PD 2(B). 

PD 3(A).  PD 3(B). 

* IDENTICAL PD 3 Framing outcome 


image3.emf



Initial Shape



SR set #1.
     - (Gh. / Mh.)



SR set #2.
     - (RO.45)



     - (Gv.) 



     - (Gh. / Mh.)
     - (Gv.) 



PD 1(A). PD 1(B). 



PD 2(A). 



       Square 



Pattern Design Outcomes



SR set #3.
     - (Gh. / Mh.)
     - (Gv.) 
     - (GdO.50) 



PD 2(B). 



PD 3(A). PD 3(B). 



* IDENTICAL PD 3 Framing outcome 



Initial Shape



SR set #1.
     - (Gh. / Mh.)



SR set #2.
     - (RO.90)



     - (Gv.) 



     - (Gh. / Mh.)
     - (Gv.) 



PD 1(A). PD 1(B). 



PD 2(A). 



      Rectangle



Pattern Design Outcomes



SR set #3.
     - (Gh. / Mh.)
     - (Gv.) 
     - (GdO.50) 



PD 2(B). 



PD 3(A). PD 3(B). 



* IDENTICAL PD 3 Framing outcome 










Initial Shape

SR set #1.

     - (Gh. / Mh.)

SR set #2.

     - (RO.45)

     - (Gv.) 

     - (Gh. / Mh.)

     - (Gv.) 

PD 1(A).  PD 1(B). 

PD 2(A). 

       Square 

Pattern Design Outcomes

SR set #3.

     - (Gh. / Mh.)

     - (Gv.) 

     - (GdO.50) 

PD 2(B). 

PD 3(A).  PD 3(B). 

* IDENTICAL PD 3 Framing outcome 

Initial Shape

SR set #1.

     - (Gh. / Mh.)

SR set #2.

     - (RO.90)

     - (Gv.) 

     - (Gh. / Mh.)

     - (Gv.) 

PD 1(A).  PD 1(B). 

PD 2(A). 

      Rectangle

Pattern Design Outcomes

SR set #3.

     - (Gh. / Mh.)

     - (Gv.) 

     - (GdO.50) 

PD 2(B). 

PD 3(A).  PD 3(B). 

* IDENTICAL PD 3 Framing outcome 


image4.emf



Initial Shape



SR set #1.
     - (Gh. / Mh.)



SR set #2.
     - (RO.45)



     - (Gv.) 



     - (Gh. / Mh.)
     - (Gv.) 



PD 1(A). PD 1(B). 



PD 2(A). 



       Square 



Pattern Design Outcomes



SR set #3.
     - (Gh. / Mh.)
     - (Gv.) 
     - (GdO.50) 



PD 2(B). 



PD 3(A). PD 3(B). 



* IDENTICAL PD 3 Framing outcome 



Initial Shape



SR set #1.
     - (Gh. / Mh.)



SR set #2.
     - (RO.90)



     - (Gv.) 



     - (Gh. / Mh.)
     - (Gv.) 



PD 1(A). PD 1(B). 



PD 2(A). 



      Rectangle



Pattern Design Outcomes



SR set #3.
     - (Gh. / Mh.)
     - (Gv.) 
     - (GdO.50) 



PD 2(B). 



PD 3(A). PD 3(B). 



* IDENTICAL PD 3 Framing outcome 










Initial Shape

SR set #1.

     - (Gh. / Mh.)

SR set #2.

     - (RO.45)

     - (Gv.) 

     - (Gh. / Mh.)

     - (Gv.) 

PD 1(A).  PD 1(B). 

PD 2(A). 

       Square 

Pattern Design Outcomes

SR set #3.

     - (Gh. / Mh.)

     - (Gv.) 

     - (GdO.50) 

PD 2(B). 

PD 3(A).  PD 3(B). 

* IDENTICAL PD 3 Framing outcome 

Initial Shape

SR set #1.

     - (Gh. / Mh.)

SR set #2.

     - (RO.90)

     - (Gv.) 

     - (Gh. / Mh.)

     - (Gv.) 

PD 1(A).  PD 1(B). 

PD 2(A). 

      Rectangle

Pattern Design Outcomes

SR set #3.

     - (Gh. / Mh.)

     - (Gv.) 

     - (GdO.50) 

PD 2(B). 

PD 3(A).  PD 3(B). 

* IDENTICAL PD 3 Framing outcome 


image5.emf



Initial Shape



SR set #1.
     - (Gh. / Mh.)



SR set #2.
     - (RO.45)



     - (Gv.) 



     - (Gh. / Mh.)
     - (Gv.) 



PD 1(A). PD 1(B). 



PD 2(A). 



       Square 



Pattern Design Outcomes



SR set #3.
     - (Gh. / Mh.)
     - (Gv.) 
     - (GdO.50) 



PD 2(B). 



PD 3(A). PD 3(B). 



* IDENTICAL PD 3 Framing outcome 



Initial Shape



SR set #1.
     - (Gh. / Mh.)



SR set #2.
     - (RO.90)



     - (Gv.) 



     - (Gh. / Mh.)
     - (Gv.) 



PD 1(A). PD 1(B). 



PD 2(A). 



      Rectangle



Pattern Design Outcomes



SR set #3.
     - (Gh. / Mh.)
     - (Gv.) 
     - (GdO.50) 



PD 2(B). 



PD 3(A). PD 3(B). 



* IDENTICAL PD 3 Framing outcome 










Initial Shape

SR set #1.

     - (Gh. / Mh.)

SR set #2.

     - (RO.45)

     - (Gv.) 

     - (Gh. / Mh.)

     - (Gv.) 

PD 1(A).  PD 1(B). 

PD 2(A). 

       Square 

Pattern Design Outcomes

SR set #3.

     - (Gh. / Mh.)

     - (Gv.) 

     - (GdO.50) 

PD 2(B). 

PD 3(A).  PD 3(B). 

* IDENTICAL PD 3 Framing outcome 

Initial Shape

SR set #1.

     - (Gh. / Mh.)

SR set #2.

     - (RO.90)

     - (Gv.) 

     - (Gh. / Mh.)

     - (Gv.) 

PD 1(A).  PD 1(B). 

PD 2(A). 

      Rectangle

Pattern Design Outcomes

SR set #3.

     - (Gh. / Mh.)

     - (Gv.) 

     - (GdO.50) 

PD 2(B). 

PD 3(A).  PD 3(B). 

* IDENTICAL PD 3 Framing outcome 


image6.emf



Initial Shape



SR set #1.
     - (Gh. / Mh.)



SR set #2.
     - (RO.45)



     - (Gv.) 



     - (Gh. / Mh.)
     - (Gv.) 



PD 1(A). PD 1(B). 



PD 2(A). 



       Square 



Pattern Design Outcomes



SR set #3.
     - (Gh. / Mh.)
     - (Gv.) 
     - (GdO.50) 



PD 2(B). 



PD 3(A). PD 3(B). 



* IDENTICAL PD 3 Framing outcome 



Initial Shape



SR set #1.
     - (Gh. / Mh.)



SR set #2.
     - (RO.90)



     - (Gv.) 



     - (Gh. / Mh.)
     - (Gv.) 



PD 1(A). PD 1(B). 



PD 2(A). 



      Rectangle



Pattern Design Outcomes



SR set #3.
     - (Gh. / Mh.)
     - (Gv.) 
     - (GdO.50) 



PD 2(B). 



PD 3(A). PD 3(B). 



* IDENTICAL PD 3 Framing outcome 










Initial Shape

SR set #1.

     - (Gh. / Mh.)

SR set #2.

     - (RO.45)

     - (Gv.) 

     - (Gh. / Mh.)

     - (Gv.) 

PD 1(A).  PD 1(B). 

PD 2(A). 

       Square 

Pattern Design Outcomes

SR set #3.

     - (Gh. / Mh.)

     - (Gv.) 

     - (GdO.50) 

PD 2(B). 

PD 3(A).  PD 3(B). 

* IDENTICAL PD 3 Framing outcome 

Initial Shape

SR set #1.

     - (Gh. / Mh.)

SR set #2.

     - (RO.90)

     - (Gv.) 

     - (Gh. / Mh.)

     - (Gv.) 

PD 1(A).  PD 1(B). 

PD 2(A). 

      Rectangle

Pattern Design Outcomes

SR set #3.

     - (Gh. / Mh.)

     - (Gv.) 

     - (GdO.50) 

PD 2(B). 

PD 3(A).  PD 3(B). 

* IDENTICAL PD 3 Framing outcome 


